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Plot [['EcFgro', 'EcFzExp', 'EcPltng', 'ECdef’, '‘water_ec']]
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Plot ['ECopt']
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plot dfFv
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plot dfFv (daily AgqQ)

2000 -

1500 A

1000 A

500 A

-%- fz stock ec
—— ECB

Warning: col ['ECC'] is missing

5 10 15

20
day

25 30

35

7.5

7.0

6.5 1

6.0

—4— PHB*10%

Warning:-col-['PHC']-is- missing

5 10 15

20
day

25 30

35

3600 A

3400 A

3200 -

3000 -

2800 A

2600 A

2400 -

—e— DUC

20
day

25 30

35

6000 A

5000 -

4000 A

3000 -

2000 A

—&— FRV

20
day

25 30

35

2.0

1.8

1.6

1.4 4

1.2

1.0 A

0.8 A

—&— FRC

20
day

25 30

35

100 A

80 A

60

40 A

20 A

—e— FDF

24 26

28

day

30

32

34

3.0 A

2.8 A

2.6

2.4 A

2.2 1

2.0

—8— FV _score

20
day

25 30

35




Plot minDeltaM, minDeltaMs, minDeltaMt
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plot daily (kilo)MperET and deltaM
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Plot [['ETCAbyEtM:bo’, 'ETcAbyEtM_ma:b--', 'ETcAbyFv:go’, 'ETcAbyFv_ma:g--', 'ETcA:ro', 'ETcAma:r-']]

1.04 ~ —— ETcAma
1.02 A
1.00 ~
0.98 A
0.96 1 Warning: col ['ETcAbyEtM", '"ETcAbyEtM_ma’, 'ETcAbyFV', 'ETcAbyFv_ma", 'ETcA'] is missing
é 1I0 1I5 2I0 2I5 3I0 3I5




400

300

200

100

30.0
27.5
25.0
22.5
20.0
17.5
15.0
12.5

70
65
60
55
50
45
40

35

2500

2000

1500

1000

500

3.0

2.5

2.0

1.5

1.0

0.5

1.6

1.4

1.2

1.0

0.8

0.6

0.4

Plot [['I", 'lopt'], ['T", "Topt'], ['RH', 'RHopt'], ['ETcl', 'optETcl'], 'LAI', 'optEtRate']
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Plot liquid fertilizer usage
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Plot solid fertilizer usage

4 —e— fzStockA 100 7' —e— cumsStockA : 3001
! -%- fzStockAov -%- cumStockAov 3500 7 :
—e— fzStockB 80 7 —e— cumStockB 3000 - : 250
31 -»%- fzStockBov -»- cumStockBov ! !
60 2500 - | '
‘ : 200 A :
40 - 2000 ~ : :
) |
20 4 1500 - I 150 A |
: —8— expECS :
1000 - fzStockECS ! -0 FDFS
0 zStoc 100 - ! exp
0 25 50 75 100 125 150 175 0 25 50 75 100 125 150 175 25 50 75 100 125 150 175 25 50 75 100 125 150 175

d d d d



1
4000 - !
1
1
3000 1 i
! —— kg hN L
2000 4 kg_hP205 L
—0— kg_hK20_L
1000 MW
1
01 I
0 25 50 75 100 125 150 175
d

Fertilizer Range Source: kerleyL, kerleyH, UnivFL, TNAI, Haifa

1200 ;
—o— kg hN L

1000 4/ -»%- kg _hNov L
800 - :
1
600 I i
1
400 r :
1
200 —
1

0 - <O GROOCH(=D6 e X=X
25 50 75 100 125 150 175
d

1200 A :
1
1000 A :
1
800 - |
! —— kg _hP205_ L
600 - ! - -
=»- kg _hP205o0v_L
400 -
200 A
o BISOCH =D = H =X
25 50 75 100 125 150 175

1
4000 - !
1
1
3000 - i
1
' —o— kg hK20 L

2000 - ] -%=- kg_hK20ov_L
1
1
1000 A )l
|

0 - &<b%8 % HOBERIBIOOCI (=0 = (=X

0 25 50 75 100 125 150 175
d



1
4000 - :
1
:
3000 o |
! —8— kg hN_S
2000 - kg_hP205_S
—8— kg hK20_S
1
01 |
0 25 50 75 100 125 150 175

Fertilizer Range Source: kerleyL, kerleyH, UnivFL, TNAI, Haifa

1200 A

1000 A

800 -

600

—— kg hN_S
=»%- kg hNov_ S

400

200

1
1
SOOI OROROBIONINIERISSHO( I =D == (=X

125 150 175

1200 - I

1
1000 - :

1
800 - :

: —e— kg hP205_S
600 - -%- kg_hP2050v S
400 -
200 -

8% RO BISO(H(—DE = H =X
25 50 75 100 125 150 175

1
4000 + :
1
|
3000 ~ :
| —&— kg hK20_ S
2000 ~ : =»%- kg hK20Oov_S
1
1
1000 A ] !
[
0 PG s S HRRRAEHO(NH (=D = H =X
25 50 75 100 125 150 175



